Market Leader
Vocabulary

Choose the best answer a, b, c, or d to complete the following sentences.

1) Foreign workers make up quite a high percentage of the ______ in the Gulf countries.
a) market share            b) profit             c)  workforce             d) turnover


2) The more _________ a company makes the more benefits it can give its employees.
a) market share            b) profit             c)  workforce             d) share price


3) Although Sabic has some offices in Jubail, the ___________ is in Riyadh.
a) [bookmark: _GoBack]share price            b) head office             c)  market share           d) turnover


4) Sometimes a company has a high ____________, but the profit is low.
b) share price            b) workforce             c)  subsidiary             d) turnover


5) Sabic has ______________ in many countries around the world.
c) share price            b) employers             c)  subsidiaries             d) careers


6) If a company makes more profit its ____________ usually increases. 
a) share price               b) subsidiary             c)  head office                d) employer


7) Toyota increased its _____________ by making products customers want.                     
 a)   subsidiary              b) workforce              c)  guarantee              d) market share






